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Five friends got different deals during the Black Friday sales. Try to find out who bought the laptop.

Shirt: black, blue, green, red, white Discount: 40%, 50%, 60%, 70%, 80%

Name: Dustin, Eugene, Hank, Keith, Sean Age: 25 years, 30 years, 35 years, 40 years, 45 years

Deal: beard trimmer, game console, laptop, smartphone, TV Juice: apple, cranberry, grape, lemon, orange
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The man drinking the Orange juice is exactly to the
right of the man who got the 70% discount.

Keith is 45 years old.

The man who bought the TV is exactly to the left of the
man wearing the Red shirt.

At the third position is the man who got the 50%
discount.

Keith is next to the man wearing the White shirt.

The 25-year-old man is somewhere between the 35-
year-old man and the 40-year-old man, in that order.

The man drinking Apple juice bought the Smartphone.

The 30-year-old man is exactly to the left of the man
that bought the Beard trimmer.

Sean is the youngest.

The man that got the 40% discount is exactly to the
right of the man who bought the Beard trimmer.

Keith is next to the 35-year-old man.
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Eugene is 40 years old.
Sean is wearing the Black shirt.

At the fourth position is the man who got the biggest
discount.

Dustin got 60% off.

The man drinking the Lemon juice is exactly to the
right of the man drinking the Grape juice.

Keith bought a Game console.

The man who got the 80% discount is exactly to the left
of the man who is wearing the Blue shirt.

The man drinking Grape juice bought the Beard
trimmer.

The man wearing the Black shirt is somewhere to the
right of Keith.

The man that bought the Smartphone is next to the
man wearing the Black shirt.
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The man drinking the Orange juice is exactly to the
right of the man who got the 70% discount.

Eugene is 40 years old.

Sean is wearing the Black shirt.

Keith is 4 1d. e .
eith is 45 years old At the fourth position is the man who got the biggest

The man who bought the TV is exactly to the left of the discount.

man wearing the Red shirt. Dustin got 60% off.

At the third position is the man who got the 50%

. The man drinking the Lemon juice is exactly to the
discount.

right of the man drinking the Grape juice.

Keith is next to the man wearing the White shirt. )
g Keith bought a Game console.

The 25-year-old man is somewhere between the 35-
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year-old man and the 40-year-old man, in that order. The man who got the 80% discount is exactly to the left

of the man who is wearing the Blue shirt.

The man drinking Apple juice bought the Smartphone. The man drinking Grape juice bought the Beard

The 30-year-old man is exactly to the left of the man trimmer.

that bought the Beard trimmer. . o
g ! The man wearing the Black shirt is somewhere to the

Sean is the youngest.

The man that got the 40% discount is exactly to the
right of the man who bought the Beard trimmer.

right of Keith.

The man that bought the Smartphone is next to the
man wearing the Black shirt.

Keith is next to the 35-year-old man.
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